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V. EMRERR
(1) RiEK

(BR4FE)
( /

mL)

B % B

2.8

0.6

2.1

4.9

0.6

Merismopedia spp.
Microcystis spp.

Aphanizomenon spp.

Anabaena macrospora

Oscillatoria tenuis

Oscillatoria spp.

Chroococcus spp.

Anabaena spp.

Homoeothrix spp.

Phormidium tenue

0.1

2.9

0.6

Others

B E B

494

438

354

378

370

128

62

232

190

584

434

Achnanthes  spp.

34

12

26

30

56

Amphora  spp.

Asterionella spp.

Aulacoseria  spp.

Bacillaria spp.

Ceratoneis spp.

Cocconeis spp.

12

28

14

14

Cyclotella spp.

90

54

16

34

90

44

Cymbella  spp.

36

28

20

56

92

Cymatopleura spp.

Diatoma spp.

24

26

86

24

20

Diploneis spp.

24

Epithemia spp.

Fragilaria spp.

Gomphonema _ spp.

34

22

32

Gyrosigma spp.

Melosira  spp.

16

18

10

12

Na

icula spp.

194

208

226

64

118

250

206

402

Neidium spp.

Nitzschia acicularis

Nitzschia spp.

74

32

20

Pinnularia spp.

14

o~

Rhoicosphenia spp.

Skeletonema potamos

Surirella spp.

Stephanodiscus spp.

Synedra acus

Synedra ulna

Synedra  spp.

Tabellaria spp.

Others

® % B

22

38

26

28

20

Actinastrum spp.

Ankistrodesmus spp.

Carteria spp.

Chlamydomonas  spp.

Chloromonas spp.

Closterium spp.

Coelastrum spp.

Cosmarium spp.

Cosmocladium spp.

Crucigenia spp.

Gloeocystis spp.

FElakatothrix spp.

FEudorina spp.

Mougeotia spp.

Micractinium spp.

Oocystis spp.

Others

Pandorina spp.

Pediastrum spp.

Pleodorina spp.

Quadrigula spp.

Scenedesmus  spp.

Schroederia spp.

Selenastrum spp.

Staurastrum spp.

Stigeoclonium spp.

Sphaerocystis spp.

Spondylosium spp.

Tetraspora _ spp.

YV EE

Cryptomonas  spp.

& &

Nlo| oo

[#aliomonas spp.

Dinobryon spp.

N

B E 5

| Glenodinium spp.

|Peridinium_spp.

a-5 L+ E8E

Phacus spp.

FEuglena spp.

Lepocincl

Trachelomon 2.

BANE

A8

I H

Zofh

522

466

368.8

416. 6

408. 1

162.9

86

240

198

594

450. 6

842

53




(2) RRERK

(

(BHR4EE)
/10mL)

E E 8

Anabaena spp.

Aphanocaps

Chroococ

o= |—=| o

Oscillatoria spp.

Merismopedia spp.

Others

B E B

59

55

Achnanthes spp.

Amphora spp.

Asterionella spp.

Aulacoseria spp.

Cocconeis _spp.

Cyclotella spp.

22

Cymatopleura spp.

Cymbella spp.

Diatoma _spp.

Diploneis spp.

Gomphonema _spp.

Gyrosigma spp.

Melosira spp.

Navicula spp.

Neidium spp.

Nitzschia spp.

Nitzschia acicularis

Pinnularia spp.

Rhoicosphenia spp.

Synedra_spp.
x & =3

38

Ankistrodesmus  spp.

13

Botryococcus spp.

Chlamydomonas spp.

Closterium spp.

Coccomyxa spp.

Coelastrum spp.

Eudorona spp.

Gloeocystis spp.

Mougeotia spp.

Oocystis _spp.

Pandorina spp.

Pediastrum spp.

Scenedesmus spp.

Schroederia spp.

Selenastrum spp.

—|eo|en|—

Staurastrum spp.

Sphaerocystis _spp.

v ) T rEE

| Cryptomonas  Spp.

R R

| Ceratium spp.

|P€1‘J'djnju/11 Spp.

- L%

Lepocinclis spp.

FEuglena spp.

Phacus _spp.

Irachelomonas spp.

WY

MEH

A

DA

Zof (32 =)

23

103

60

94



